
ASSEMBLY INSTRUCTION



ASSEMBLY INSTRUCTION

1

2

3

4

5

6

7

8

9

10

11

7

12

13

14

15

16

17

18
16

17

18

16

17

18

16

17

18

F

F

F

F

G

G

G

G



1 2

5 6 7 8

1PCS 1PCS 1PCS 1PCS

1PCS 1PCS 2PCS 1PCS

1PCS 1PCS 1PCS 1PCS

4PCS1PCS 1PCS 1PCS

9 10 11 12

14 15 16

3 4

13

ASSEMBLY INSTRUCTION

4PCS 4PCS

17 18



1PCS

36PCS

M5*38

15*9.3mm

I

M6*10

J

3MM

56PCS 18PCS

18PCS

M3.5*14

A B C D

E F G H

4PCS 4PCS

I1 I2 I3

8PCS

ASSEMBLY INSTRUCTION

M4*8

8PCS

M4*18

4PCS

8PCS

B1

B2

K

2PCS 6PCS

L M

8PCS 2PCS

M3*14

M8*35

AutoCAD SHX Text
M8X35



1PCS

1PCS

4PCS

I1

1

2

ASSEMBLY INSTRUCTION

I2

4PCS

STEP1

21

2 6PCS

2PCS1

11 6PCS

K 6PCS

1

2

11

K
K

K
K

K

K

STEP2



3

3

4PCS

I1

I2

4PCS

1PCS3

ASSEMBLY INSTRUCTION

D

D

D

D

D

D

D

D

2
1

8PCSD

STEP3

STEP4



1PCS

4PCS

10

6

ASSEMBLY INSTRUCTION

A

4PCS

A

A

A

A

6

10

3

E

E

E

E

E

E

E

E

8PCSE

2

1

STEP5

STEP6



8PCS

11

A

1PCS

1PCS4

A

A

A
A

A

A
A

A

4PCS

ASSEMBLY INSTRUCTION

A

A

A

A

A

4

11

4

11

STEP7

STEP8



12PCS

8

A

1PCS

2PCS7

2PCS

ASSEMBLY INSTRUCTION

D

A

A

A

A

A

A

7

8

7

D
D

STEP9

STEP10



8PCS

ASSEMBLY INSTRUCTION

A

E

E

2PCSE

1PCS5

5

A

A

A

A

STEP11

STEP12



ASSEMBLY INSTRUCTION

1PCS9

D
D

D

D

D
D

D
D

E

E
E

8PCSD

9

9

8PCSE

STEP13

STEP14

E

E



4PCS18

ASSEMBLY INSTRUCTION

4PCS17

4PCS

4PCSG

F

C 24PCS

17

18

F

G

x4

B2B2

12 13

1PCS12

1PCS13

2PCSB1

4PCSB2

B1B1

STEP15

STEP16

C

C

C

C

C

C



ASSEMBLY INSTRUCTION

C
C

C

C
C

C

C
C

C

C
C

C

B2 B2

14 15

12
13

C
C

1PCS14

1PCS15

2PCSB1

4PCSB2

B1B1

C 12PCS

STEP17

STEP18



C
C

C

C
C

C

C
C

C

C
C

C

CC

14
15

ASSEMBLY INSTRUCTION

12

13

I3
H

I3
H

I3
H

I3

H

I3
H

C 12PCS

H 4PCS

I3 4PCS

STEP19

STEP20



ASSEMBLY INSTRUCTION

C

C

C

C

2PCS

4PCS

16

C

16

16

C

I3
H

I3

H

I3
H

I3
H

I3
H

H 4PCS

I3 4PCS

STEP21

STEP22

14

15



ASSEMBLY INSTRUCTION

16

16

C

C

C

C

2PCS

4PCS

16

C

J

M6*10
2PCS

J

STEP23

STEP24

C

AutoCAD SHX Text
M8X60



ASSEMBLY INSTRUCTION

STEP25

STEP26

2PCS

8PCS

M

L

L L

M

M

L

L

L

M


	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型


